Meteorological Variationson a Trajectory

Configure thelcontrol filgfor atrajectory simulation from 40 N and O W from
1500 m using the ECMWF data and the vertical motion datafield. The resulting
trajectory goes to the northeast. If the value of the selected meteorological variablesis
desired along that trajectory, aflag in the configuration file|can be set through the
“advanced” menu tab. Ambient and potential temperature, precipitation, mixing depth,
and relative humidity are currently the only available options. One or more fields may be
selected, all will be written to the output file, but only the last value can be plotted.

{ Trajectory Namelist Configuration Setup

Configure p
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Time Step Selection Criteria  Time step (min}  Stability ratio

€ set value & Set Ratio ul 0.75

Meteorological subgrid size: [10
Vertical grid coordinate system: & AGL  MSL

Temporal Trajectory Restart

Interval (hrs): [0 Humber of levels: [0

Output interval (min): |60 Max duration (hrs): (9999

Meteorology Output Along the Trajectory
u ] - u

Ensemble Configuration Grid Offset Factors

X-factor:[1.0 ¥-factor:[1.0 z-factor: [0.01

Upon completion of the calculation, the vertical coordinate used to display the trajectory
can be selected from the display menu. Pressure and height are available for all
trajectories, potential temperature (theta) is only available for isentropic trajectories, and
only the last selected meteorological variable can be plotted.
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Output Postscript: trajplot.ps [T 6BIS | View

Map Background: arlmap ¥ Colox ;: 1

Projection: & Auto ¢ Polar ¢ Lambert ¢ Mercator i

Rings: Humber Dist(km) Center: Lat Long b W
[ set [a 100 set [s0.0 [-5.0 =

Lahel Source Time Lahel Interval (hrs): i
@ on " DEE 0 C 13 C 612 C 24

Vertical Coordinate: = | F |
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